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. (i) All questions are compulsory.

. (ii) The question paper consists of 30 questions divided into four Sections ‘A’, ‘B’, ‘C’ and ‘D’.
Section ‘A’ comprises of ten questions of 1 mark each, Section ‘B’ comprises of five questions
of 2 marks each, Section ‘C’ comprises of ten questions of 3 marks each and Section ‘D’
comprises of five questions of 6 marks each.

(iii) All questions in Section ‘A’ are to be answered in one word or sentence or as per the exact
requirement of the question.

(iv) There is no overall choice. However, internal choice has been provided in one question of 2
marks, three questions of 3 marks each and two questions of 6 marks each. You have to
attempt only one of the alternatives in all such questions.

~ (v) Inquestions on construction, drawing should be neat and exactly as per the given measurement.
J:

-~ (vi) Use of calculator is not permitted.

(vifj Start from the first question and proceed to the last. Do not waste your time over a question
which you cannot solve.
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1. T §=T ;%wﬁ%lmqﬁﬁammzﬁ%ﬁwqﬁw%?
m
A number is in the form of ;‘ Mention the conditions that this number is a rational one.

2. feura IHexor 16x2 —24x =0 BT & BT |

Solve the quadratic equation 16x? —24x = 0.

3. Tdh AR Aol BT UH U 2 T T4 3R —1 B | ST Uihdl e §drsy |
The first term of an A.P. is 2 and the common difference is —1. Find the 5th term.

4. g 1,2,x,3TAT 46T ARG 28 AT x BT 79 A1 B |

The mean of 1, 2, x, 3 and 4 is 2, calculate the value of x.

5. 3fd P(E)=0.65 &, @ ‘E 78’ 3 Wifdbar oar 8 ?
If P(E) = 0.65, what is the probability of ‘not E” ?

6. THIGT ax?+bx+c =0 &I o foRad |

Write down the two roots of the equation ax? + bx + ¢ = 0.

7. sin 0 (cosec 0 —sin 0) B T DI |
Simplify : sin 6 (cosec O — sin 0)

8. 10m o= Tob Wil Ush AR WR RBHM W 4A A 8§ m &F S8 R Rerd ta Raed! da
2| R & MR A A & o R & 0 s g |

A ladder 10 m long reaches a window 8 m above the ground. Find the distance of the foot of the

from base of the wall.

9. R TP fdg P O dw= drel fhdl g7 WX PA, PB W%l Y@ TR 80° B DI TR b
HIOT POA &7 A9 Ia18Y |

If tangents PA and PB from a point P to a circle with centre O are inclined to each other at anz
80°, find the value of angle POA.

10. T S 3fg Tiel Bl F3roar 7300 2| 3fg el &1 IRl g del fbamr g ?

A solid hemisphere has it’s radius 7 cm. Calculate the total surface area of the hemisphere.
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(SECTION - ‘B’)

RIS 6 IR ATl U SRATeR W B TR BT Y TS 4 Wi ® oafe 9 9HY U 9MR
@l BT B orTg 28 HIeR ¥ | WAR @ FHaATs w1 BT | 2

. kvemcal pole of length 6 m casts a shadow 4 m long on the ground and at the same time a tower casts

€.
. ishadow 28 m long. Find the height of the tower.
(@ 33 4 5 BT, 7 AT T 3 HMWaﬁﬁé%‘luﬁwﬁﬁﬁﬁwﬁa e ferel s
mmﬁm%%ﬁam—oﬁﬁ%l R S
bag contains 5 black, 7 red and 3 white balls. A ball is drawn out from the bag at random Find the
probability that the ball drawn is not black. -
I fafer grT fearsy 5 | g 2x + 3y — 1= 0.9 x + —;—y—2=03b‘r PIE T TG
T2 : 2
Show graphically that the pair of equations 2x +3y—1=0and x + %y—Z =0 have no solution possible.
3141 (OR)
2 2
a‘—-2a-15 a--4a-77 _. A
=——— T B=————— 1 — &1 94 PHITTY
a’+7a+12 a’+1la+28 B ¥ |
?~2a-15 ieda—77 A
=a—2—a——— and B= Ez—a—, find the value of —.
5 T . a’+7a+12 a’+11a+28 B
1 : sec 41° sin 49° + cos 49° cosec 41° =2 2
the I tove that :

T A(S, 1) T B(-1,5) ¥ 1E g P(x,y) ¥ g8 & Rea ¥ Ramgd @6 3x=2y. 2
‘;u P(x, y) is at equal distance from two points A(S, 1) and B(~1, 5). Show that 3x = 2y.

gvg — 9q'
(SECTION - “C?)

-W' tanA+secA—-1 1+sinA ;!
rove that : tan A —sec A +1 COSA

- 34T (OR)
& DINTY tan© tan6
L. + =2 cosec 6
Prove that : secO—-1 secO+1
[31] [P.T.O.
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17. k & &9 71 & fag, 7= s Fiaxol & g™ & R w9 ¥ 39d g 2
kx +3y—-(k-3)=0
12x+ky-k=0

For what values of k will the following pair of linear equations have infinitely many solutions
kx+3y-(k-3)=0
12x+ky—-k=0

18. 18I TH <1 4 # &ifey b S7ab gl & ANT BT AT P UMDl & 5 [ B IR d

Divide 18 into two parts such that twice the sum of their squares is equal to 5 times of their pr

19. fig PR & M favg A3, 0), B6, 4) I C(-1, 3) a1 Brjet va wafgarg Brye 2|
Prove that the points A(3, 0), B(6, 4) and C(-1, 3) are the vertices of an isosceles triangle.

20. fel Y@—ave & #eg fIvg & s (1,4) §1 398 1@ R 3 Pdwis (3, 6) ¢ o g
s Far 8 ?
The coordinates of mid-point of a line segment is (1, 4). If coordinates of one end of the line is|
find the coordinates of the other end.

4T (OR)

fig oI & =g (6, 9), (0, 1) 3R (=6, —7) W@ & |
Prove that the points (6, 9), (0, 1) and (-6, —7) are collinear.

21. U U HX 201X 5 & Riges 8| A o1 Riaapl a1 w=m 60 &1 o gt Rigap! &7 7w §
B Ol YD TPR D Ridpl P 91 9=y |

There are ¥ 2 and ¥ 5 coins in a purse. If there are total 60 coins of value ¥ 195, find the numb
coins of each kind.

341 (OR)

I FHMER T 1200 H BB JRia @RI 8 | A 5 aoRIf 4 98 10 s o1 wea
Yl e WX T 20 BH <A1 ISl | 5D IHT G fba gRae @ey ?

A shopkeeper buys a number of books for ¥ 1200. If he had bought 10 more books for the
amount, each book would have cost him ¥ 20 less. How many books did he buy.

22. g IR & 342 o ey < 2
Prove that 3\/5 is irrational.

23. S Aed gl o AUl Sem T 3em B | S T B 99 NG @ WIS ST BT
T BT R BT B

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the larger
which touches the smaller circle.
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ﬁaﬁABCwawa@ja%mﬁABnDcam EF | AB & @I fRasd fo — =5 "Fc- 3

' AE BF
- ABCD is a trapezium in the figure, if AB | DC and EF || AB, show that : = ED FC E/Z : N
tions : l ¢

Ri7 4.2 cm ATl €1 B Teb el T FIeras 3941 6 em dTel U o @ U ¥ @Tell il & | 9ei
g ST BT | 3
- Ametallic sphere of radius 4.2 cm is melted and recast into the shape of a cylinder of radius 6 cm.
Findthe height of the cylinder.

Qs — ‘q
(SECTION - ‘D”)

= Ryl W 09 ¥ 1000 Hex B FarE R Rerd 1o garg S § T wafid ww ¥ Rer @ s &
T DI0T 60° AT 45° 19T & | Al ST 99 afdd @ SFi axe Rerd 8 df e @ d9

{ﬁsﬂaﬁml (V3=1732) 6

Aman observes the angles of depression of two ships to be 60° and 45° from an aeroplane 1000 meter
ligh from the sea-level. If the ships are on the opposite sides of the observer, find the distance between

feships. (V3 =1.732)

eis (3,

3rerar (OR)

31 3
a FATR @ Ue—fa=g ¥ U Haq @ RIGR ST =19 BIo1 30° 8 R ¥a1 & Ue—fag 9 AR &

R BT S BV 60° B | IR WAR 50 m AT &1, A 79 B SHalg S BIfoi] |
e angle of elevation of the top of a building from the foot of the tower is 30° and the angle of

tation of the top of the tower from the foot of the building is 60°. If the tower is 50 m high. Find the

kight of the building.
IR

) 1 T qRT B H IIHT B AT AP 6 T HH vmar © | Al < o] e i 9
H 4 o § o1 R & Y 9AsY P oM el fha RAT A S dH B WM ? 6
bhishek takes 6 days less than the time taken by Anubhav to finish a piece of work. If both of them
finish the same work in 4 days, find the time taken by Anubhav alone to finish the work.

the sar

3erar (OR)

f Rl AT 27 @ e 5 T/ Eer geT ) W Al 98 150 R @ g9 78 axe # e wer
T ol ¥ 9 @Y el aTel Sd Do |

er ci pssenger train takes one hour less for a journey of 150 km, if it’s speed is increased by 5 km/hour.

i B

ind the original speed of the train.

[5] [P.T.O.
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28. Y f&=i wwapIvr Briet § |HaIv el Y ¥ dof R o i S @
3 YBR 99 qHl B aer g@ e emuw # 'y w10 ¥ R §
£BAC=90° a1 ADLBC & d Swigqg 4@ fuyg «ifwg fo °
AD?=BDxDC.

In a right angled triangle, perpendicular is drawn to the hypotenuse from the vertex of tl
Prove that the two triangles so formed and the original triangle are similar. With the help

prove for the figure that AD? = BD x DC given that ZBAC =90° and AD L BC.

29. 36 WY ARG AT AT Th Gl BRI {5l 59 yared A w1 £ 59 59 @
TAT 6 A HaTg ATCH TANPR AT F AT B | FT P 6 BeR BT g1 @
fa-t Sraal @ aTaEar sneft ?

Ahemispherical bowl of internal diameter 36 cm is full of liquid. This liquid is to be filled in
bottles of radius 3 cm and height 6 cm. How many bottles are required to empty the bowl

30. f=feRaa SRERAT 51 &1 A1 62.8 § | AR qNGRATRA BT AT 50 & | aRaRaAmT |
WO PO

The mean of the following frequency distribution is 62.8. The total of all the frequencies |
out the values of frequencies f, and f, :

I A AR aasmnm DAY AR RIAN A I AN B R A R I I e A ma N A M A W AR N AR RIS IR AR AT 2 0 o 1 0

TR 0-20 20-40 40-60 60-80 80-1C60 | 100-120 T

Class interval

TR 5 fl 10 f2 7 8 50

Frequency '
ok ok ok ok ok ok ok ok
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